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DEPARTMENT OF MATHEMATICS
S.4 MATHEMATICS—2020
REVISION QUESTIONS
FACTORIZATION

Factorize the following completely

(a) 2y —9y. (04 marks)
(b) 1 —4m? (04 marks)
(c)  —3t*+48. (04 marks)
(d)  x* — 9zy (04 marks)
(e) xy—6+2y—3x. (04 marks)
(f) 2'-1. (04 marks)
(g) 2mR*—2mr* (04 marks)
(h)  n*—4n2 (04 marks)
i) (A—-2)(x+2)—3x—4). (04 marks)
G)  (Bp+2)?-0. (04 marks)
(k) 9% — (3 —c)2 (04 marks)
1) (2n+1)2—4(n—2)% (04 marks)
m)  a?+3z+2. (04 marks)
(n) 92 — 62 + 1. (04 marks)
(o) —2x*—8x—8. (04 marks)
(p) 2%+ 4ay + 3y>. (04 marks)
(@)  a*—bab+ 6b%. (04 marks)
(r)  m?—3mn + 2n?. (04 marks)
(s)  2ab— 3+ 2ad — 3b. (04 marks)
(t)  2p+2+pg+q. (04 marks)
(u) 2y—6+2y—3z. (04 marks)
(v)  a*+2ab—1+2b. (04 marks)
(w) 2?4 2zy — bx — 6y + 6. (04 marks)



10.
11.

(x)  m?—3mn — 4+ 6m.
(v)  p°—pqg—3p+q+2.
(z)  dxy? — 23 — yx® + 4.

Without using a calculator or mathematical tables,
7.46% — 2.542.

Without using a calculator or mathematical tables,
0.2 x 4.5 — 0.2 x 5.5%.

Without using a calculator or mathematical tables,
3.142% — 3.042 x 3.142.

Without using a calculator or mathematical tables,
68.75% — 31.252

3.75

Without using a calculator or mathematical tables,
21.35 x 41.35 — 21.35

0.02
Without using a calculator or mathematical tables,
30.25% — 30.15 x 30.25

0.0025

Given that 22 — y?> = 135 and z — y = 9, find the values of z and y.
Factorize 2> — 6x + 8 completely. Hence solve 22 — 6z + 8 = 0.
Factorize 222 +  — 1 completely. Hence solve 222 4+ — 1 = 0.

Factorize 4z — 1 — 322 completely. Hence solve 4z — 1 — 322 = 0.
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Strategic thinking is the way to go
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